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Direction (1-5) In the following passage there are blanks,

each of which has been numbered These numbers are
printed below the passage and against each, five words
are suggested, one of which fits the blank appropriately.
Find out the appropriate words.

Formal moral suasion is characterized by explicit
(though non-contractual) commitments to “(1)
from activities judged to be in conflict with policies of
the central bank”. Informal moral suasion is more
difficult to define and is (2) through various
conversations and interactions between the central
bank and the commercial finance institutions, during
which commercial institutions can be made to
understand the central bank’s policy (3) on
various matters. The oligopolistic competition in the
British banking sector has witnessed the success of
moral suasion as a monetary policy instrument,
allowing the central bank to control by persuasion and
directive. Given that only five major banks need to be
persuaded in England, a moral suasion policy
instrument is very (4) because non-
compliers can be immediately identified and held up for
censure, while in the United States where there are
many commercial banks, the Federal Reserve needs to
use legalistic controls to pursue the same ends. Moral
suasion has been effectively used in the management
of inflation in a number of countries and is also referred
to as “open mouth operations” in the financial sector.
The common factor for the success of moral suasion is
the trust that stakeholders have on the Central Bank.
For example, New Zealand has experienced high
inflation in the early and mid eighties which however
drastically (5) as the bank managed to anchor
stakeholder inflation expectation through moral suasion.
Monetary policy to a great extent is the management of
expectations, influencing inflation expectations of
business and labour.

(A) Disdain (B) Refrain

(C) Suffer (D) Different
(A) carried (B) accepted
(C) geared (D) reckoned

(A) manifesto
(C) agreements

(B) arrangements
(D) objectives

(A) Affected
(C) Attractive

(B) Effective
(D) Sedative

(A) Crippled
(C) Reversed

(B) Numbered
(D) Reduced

Direction (6-10) Read the following passage carefully and

Fb:-

answer the questions given below it.

A subsidy, often viewed as the converse of a tax, is an
instrument of fiscal policy. Derived from the Latin word
‘subsidium’, a subsidy literally implies coming to
assistance from behind However, their beneficial
potential is at its best when they are transparent, well
targeted, and suitably designed for practical
implementation. Subsidies are helpful for both economy
and people as well. Subsidies are having long-term
impact on economy like green revolution etc. are only
because farmers were given good quality of grain on
subsidised prices likewise we can see that how govt of
India is trying to reduce air pollution to subsidies Lpg.

Like indirect taxes, they can alter relative prices and
budget constraints and thereby affect decisions
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concerning production, consumption and allocation of
resources. Subsidies in areas such as education, health
and environment at times merit justification on grounds
that their benefits are spread well beyond the
immediate recipients, and are shared by the population
at large, present and future. For many other subsidies,
however the case is not so clear-cut. Arising due to
extensive governmental participation in a variety of
economic activities, there are many subsidies that
shelter inefficiencies or are of doubtful distributional
credentials. Subsidies that are ineffective or
distortionary need to be weaned out, for an
undiscerning, uncontrolled and opaque growth of
subsidies can be deleterious for a country’s public
finances.

In India, as also elsewhere, subsidies now account for a
significant part of government’s expenditures although,
like that of an iceberg, only their tip may be visible.
These implicit subsidies not only cause a considerable
draft on the already strained fiscal resources, but may
also fail on the anvil of equity and efficiency as has
already been pointed out above. In the context of their
economic effects, subsidies have been subjected to an
intense debate in India in recent years. Issues like the
distortionary effects of agricultural subsidies on the
cropping pattern, their impact on inter-regional
disparities in development, the sub-optimal use of
scarce inputs like water and power induced by
subsidies, and whether subsidies lead to systemic
inefficiencies have been examined at length.
Inadequate targeting of subsidies has especially been
picked up for discussion.

This paper based on the study conducted by
Srivastava, Sen et al. under the aegis of National
Institute of Public Finance and Policy, and the
discussion  paper brought out by Department of
Economic Affairs( Ministry of Finance) in 1997, aims to
provide a comprehensive estimate of budget-based
subsidies in India In addition, recent trends have been
included from the Economic Survey for the year 2004-
05. Attention is focused on bringing out the magnitude
of the implicit subsidies, in addition to the explicit ones,
to form an idea as to how heavy a draft do they
constitute on the fiscal resources of the economy.

According to the passage how subsidy helped the
farmers?

(A) Farmers were given extra money without interest as
subsidy.

(B) The loans were waived off under the subsidy.

(C) Farmers were given off grain on subsidised prices.
(D) They were given compensatory amount under the
subsidy.

Which of the following is true as per the context of the
passage?

(A) Corruption is weeded out because of subsidy.

(B) Subsidies can be harmful for economy.

(C) There has been so much discussion about ending
the subsidy.

(D) Government creates vote bank via subsidy.

What has been one of the burning debates in India in
recent years?

(A) The discussion over subsidies.

(B) The discussion over corruption

(C) The discussion over the misuse of given subsidies.
(D) The discussion over economic survey discrepancies

As per the passage which of the following can be false?
(A) Like indirect taxes, subsidies can’t alter relative
prices.

(B) Subsidies not only cause a considerable draft.
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10.

(C) Subsidies are helpful for both economy and people
as well.
(D) All are false.

(A) SQRP (B) SRQP
(C) SPQR (D) PSQR

Direction (20-24) Read each sentence to find out whether

What is the intention of the author behind writing this

passage?

(A) The author is adamant on condemning the policies

laid down by government.

(B) Intention is focused on bringing out the magnitude

of the implicit subsidies.

(C) Author wants to reveal all the corruption behind the 20.
subsidy scheme.

(D) It has been written to reveal the loopholes in the
government.

there is any grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence.
The number of that part is the answer. If there is 'No
error', the answer is (D). (Ignore errors of punctuation, if

any).

The RBI circular directed (A) lenders to undertake
insolvency (B) resolution of defaulting companies with a
strict timeline (C) no error (D)

21.  The Godrej Properties stock are (A) down 5 per cent
Directions (11-15) Choose the word or group of words which since the beginning of this month, and 20 per cent since
is MOST NEARLY THE SAME in meaning as the May on signs of slowing growth and if the (B) company
words printed in bold. can match the record sales it achieved in 2017-18. (C)
no error (D)
11. QUELL
(A) Abet (B) Suppress 22.  The Securities and Exchange Board of India (Sebi) had
(C) Support (D) Vanquish (A) last year allowed banks to enter commodity futures
trading for its retail customers. This was followed (B) by
12. ABRIDGE RBI also opening the sector for banks in a bid to deep
(A) Abort (B) Shorten commodity futures with a new class of traders. (C) no
(C) Rare (D) Urge error (D)
13.  RAPACIOUSLY 23. Toyota, one of the world's large carmakers, and (A)
(A) Satisfied (B) Threatening Uber Technologies Inc, the leading ride-hailing service,
(C) Greedy (D) Zealous are (B) widely seen as lagging the competition in
developing self-driving cars. (C) no error (D)
14. EFFICACIOUS
(A) Influential (B) Impotent 24.  The solvency ratios of the three general (A) insurance
(C) Incapable (D) Unproductive companies are much weak compared to their
counterparts in the (B) private sector and this barely
15. ENDEAVOR meets the regulatory requirement. (C) no error (D)
(A) Combat (B) Fight
(C) Campaign (D) Effort Direction (25-29) Read each sentence to find out whether

Direction (16-19) In the following question rearrange the parts

16.

17.

18.

19.

Fb:-

of the sentence in correct order.

Physical geographers are

P. make a place unique, and they are also involved in

Q. and processes that merge to 25.
R. the shared characteristics between places.

S. more concerned in exploring the environmental

features.

(A) PRQS (B) RPSQ
(C) SRPQ (D) SQPR
The Representation of People Act, 1951 26.

P. the representative bodies.

Q. of Indian egalitarianism because it checks

R. the entry of persons with illegal background into

S. has great significance for good functioning

(A) SQRP (B) SRQP

(C) SPQR (D) PSQR 27.

Although Indians spend

P. Formulations are available here.

Q. less money on allopathic

R. people in most countries more than 40,000 drug

S. medicines than

(A) PRQS (B) RPSQ 28.
(C) SRPQ (D) QSRP

There are certainly some

P. Welfare of mankind.

Q. Science and religion.

R. Both want the 29.
S. Things in common between
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there is any grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence.
The number of that part is the answer. If there is 'No
error', the answer is (D). (Ignore errors of punctuation, if

any).

One of the country’s longest running reality shows,
Kaun Banega (A) Crorepati (KBC), will be back.
Amitabh Bachchan will once again anchor the show,
charging an (B) undisclosed sum that industry sources
said could be a increase over his previous
remunerations. (C) no error (D)

As part of its regular interaction with (A) political parties
to make the electoral process more transparent,
inclusive and credibility, the Election (B) Commission
(EC) on Monday met seven national and 34 regional
political parties. (C) no error (D)

India is set to stress its commitment to the proposed
Regional (A) Comprehensive Economic Partnership
(RCEP) pact at a (B) crucial trade ministers meet
beginning Thursday in Singapore, though a final call on
the issue will be taken through the Prime Minister's
Office (C) no error (D)

Last week, the commerce secretary had briefed (A) his
counterparts across ministries, including finance, steel,
textile and defense at the (B) Cabinet Secretariat on the
current state of negotiations and the way forward (C) no
error (D)

After receiving complaints that general insurers were
(A) settling claims with fewer amounts than the insured
declared value (IDV) in the (B) case of motor claims,
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the insurance regulator began its investigations. (C) no
error (D)

Direction (30-34) In questions below, there is one statement

30.

31.

32.

33.

34.

consisting of one blanc. You have to choose the option
which provides the correct word that fits blank
appropriately and in the same order making it
meaningful and grammatically correct.

We must learn to .......... a balance of our need and
desires to enjoy a happy life with what we already have.
(A) Maintain (B) Sustain

(C) Tolerate (D) Sacrifice

Respect is something you have to earn, you cannot
force it on others to respect you. There is a .............
line between Fear and Respect, every one of us should
understand it and do necessary corrections in our
personalities.
(A) Thick

(C) Trajectory

(B) Long
(D) Thin

Always stay in a company of a people who are ...........
and trustworthy. People, who listen to what you tell
them, are not always the ones you can count on when
you need them the most.
(A) Unreliable

(C) Loyal

(B) Treacherous
(D) Legible

Parents give us life, love and help in going right
direction, But Teachers show us how to live life, shows
us path and makes us self ........... so that we can pick
the right patd.
(A) Steadfast
(C) Unstable

(B) Dependable
(D) Wobbly

Cycleof ............ always gives us back what we give to
others. If we do good to others, our good will happen, if
we do bad to others, our turn will also coma.

(A) Cessation (B) Failure

(C) Idleness (D) Deeds

Direction (35-39) Choose the most appropriate Idioms: -

35.

36.

37.

38.

39.

Fb:-

My son has recently learnt cycling. He it now.
(A) Genocide (B) Buckle down
(C) Eats, sleeps and breathes

(D) Pathology

The New Year party at the beach is most awaited. | will
be there - .
(A) Make headway
(C) Raring to go

(B) With bells on.
(D) Going places

John and his friends had decided to voice their opinion
against the new economic policy. John was the ___.

(A) Xerox subsidy

(B) Have one's heart set on

(C) First out of the gate

(D) Sink your teeth into

Rakesh was a performer at the school sports club. It
was obvious that he was
(A) Red-tapism

(C) Buckled down

(B) Drouéht
(D) Going places

John and his friends had decided to voice their opinion
against the new economic policy. John was the

(A) Xerox subsidy

(B) Have one's heart set on

(C) First out of the gate

(D) Sink your teeth into

Direction (40-45) Choose the correctly spelt word: -

40.

41.

42.

43.

44,

45,

Coffee stains made the note

(A) llegible B) Ilegiblé
(C) llegable (D) lllegable
is an antibiotic used to cure many | all nesses.
(A) Penicillen (B) Penicillin
(C) Penicillen (D) Penicilin

is often called the awkward stage.
(A) Adolescense (B) Adolessents
(C) Adolescence (D) Adolscence

In some cultures, ___ young couples have prearranged
weddings.

(A) Marriagiable
(C) Mariageable

(B) Marrageable
(D) Marriageable

Getting a driver’s is a rite of passage for most

teenagers.
(A) License (B) Lisence
(C) Lycence (D) Lisense

The mayor highlighted the
her campaign speech.

(A) Encouredging

(C) Incurraging

statistics during

(B) Encouraging
(D) Incouraging

Directions (46-48) Choose the word or group of words which

46.

47.

48.

is MOST NEARLY THE OPPOSITE in meaning as the
words printed in bold.

Startled

(A) Surprise (B) Frighten
(C) Calm (D) Scare
Emerge

(A) Rise (B) disappear
(C) show (D) surface
RAMP UP

(A) dwindle (B) increase

(C) throttle (D) push

Directions (49-50) Choose the word or group of words which

49.

50.

51.

52.
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is MOST NEARLY THE SAME in meaning as the
words printed in bold.

SURPLUS
(A) Tiny (B) Null
(C) ample (D) meager
Disrupted
(A) appease (B) disturb
(C) soothe (D) calm
Part - B
What is the meaning of word ‘C’ in BCG vaccine?
(A) Calmette (B) Cough
(C) Chlorine (D) Calcium
Consider the following?
List | List Il
(Diseases) (Causative agent)
A. Typhoid 1. Bacteria
B. Malaria 2. Virus
C. AIDS 3. Worms
D. Ringworm 4. Protozoa

Select the correct match using the code given below:
ABCD

(A)1234 (B)Y1425
(C)3125 (D)2134
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53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

Fb:-

Which of the following diseases is caused due to

allergic reaction? 64.
(A) Leprosy (B) Typhoid

(C) Asthma (D) Tetanus

The word vaccination has been derived from a latin 65.
word which relates to-

(A) Cat (B) Horse

(C) Cow (C) Dog

Which of the following is an example of Ball and Socket

joint in humans?
(A) Wrist Joint (B) Hip Joint
(C) Finger Joint (D) Neck Joint 66.

Which of the following contains highest amount of

Vitamin C?

(A) Apple (B) Tomato 67.
(C) Grape (D) Lemon

Consider the following statements:
1. Dolly was an example of cloned Hen.

2. Snake is a cold-blooded animal. 68.
Which of the statements given above is/are correct?

(A) 1L only (B) 2 only

(C)Both 1 and 2 (D) Neither 1 nor 2

Which of the following glands secret growth hormone? 69.
(A) Adrenal (B) Pituitary Gland

(C) Gonads (D) Pancreas

Match the following. 70.
Disease Cause

1. Pyorrhoea a. Entamoeba gingivalis

2. Malaria b. Leishmania Species

3. Leishmaniasis c. Plasmodium Vivax 71.
4. Sleeping Sickness d. Trypanosoma Speciation

(A) 1-a, 2-c, 3-b, 4-d (B) 1-d, 2-b, 3-c, 4-a

(C) 1-b, 2-a, 3-d, 4-c (D) 1-d, 2-c, 3-d, 4-a

Consider the following statements: 72.

1. Presence of large amounts of nutrients in waters also
causes excessive growth of planktonic algae.
2. Mollusca are the second largest animal phylum.

Which of the statements given above is/are correct? 73.
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:
1. The amount of light entering the eye is regulated by

pupil.

2. Convex lens are used for the correction of
astigmatism.

Which of the statements given above is/are NOT 74.
correct?

(A) 1 only (B) 2 only

(C)Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Human body’s main organ of balance is located in

inner part of ear. 75.
2. Any chemical which causes loss of sensation is

called Anesthetic.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C)Both 1 and 2 (D) Neither 1 nor 2

In stems, the protoxylem lies towards the centre and
the metaxylem lies towards the periphery of the organ. 76.
This type of primary xylem is called
(A) Xylem fibres (B) Xylem parenchyma
5 | Page

(C) Exarch (D) Endarch
What is the other name of Platelets?

(A) Leucocytes (B) Erythrocytes
(C) Platelets (D) Thrombocytes
Which of the following is matched correctly?
List | List Il

1. Vitamin-C Scurvy

2. Vitamin-D Rickets

3. Vitamin-E Night blindness
(A)1and 2 (B)2and 3
(C)1and3 (D)1,2and 3
The oil used in the froth floatation process is
(A) Coconut oll (B) Olive ol

(C) Kerosene oil (D) Pine oll

The material which can be deformed permanently by
heat and pressure is called a

(A) Thermoplastic (B) Thermoset

(C) Chemical compound (D) Polymer

The gas used in the manufacture of vanaspati from
vegetable oil is

(A) Hydrogen (B) Oxygen

(C) Nitrogen (D) Carbon dioxide

The ionic radii of N3-, O2-, F- and Na+ follows the order
(A)N3-> 0% >F->Na+ (B) N3->Na+>02->F-
(C) Na+ > 02->N3->F- (D) O2->F-> Na+ > N3-

Which of these is a hydronium ion?
(A) H+ (B) HO -
(C) H2+ (D) H3O+

The most electropositive elements among the following
is?

(A) Na (B) Ca

(C)K (D) Cs

The gas used for artificial ripening of green fruit is .
(A) Ethylene (B) Ethane

(C) Carbon dioxide (D) Acetylene

Consider the following statements:

1. The plastic material that once shielded in a shape, it
is not soft to heat again, and they are called
thermosetting plastics.

2. Urea, Bakelite is the example of thermoplastic.
Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Calcium oxide reacting with water form Ca (OH) 2 .
2. The first separation of aluminum was made in 1827.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Calcium oxide is used for cement and glass making.
2. Along with sodium bi carbonate, there is also Tartric
acid in baking powders.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Kalibanga is located in the site related to the Harappan
civilization-

(A) In Gujarat (B) In Rajasthan
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77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

Fb:-

(C) In Uttar Pradesh (D) In Bengal

Who was the 24th Tirthankar of Jainism-
(A) Rishabh dev (B) Mahavir Swami
(C) Parshvanath (D) Aristhenemi

Dahir was the ruler of which of the following?

(A) Multan (B) Kabul

(C) Sindh (D) Balochistan
Which Muslims invaded India first?

(A) Turk (B) Arab

(C) Khurasani (D) Mamaluk

Who got the title of Jahansoz?
(A) Mahmud Ghazni (B) Sabuktagin
(C) Sultan alauddin (D) khwarezm shah

Jaypal fought the war against whom?
(A) Mahmud Ghazni (B) alpatgin
(C) Sabuktagin (D) Muhammad Ghori

When was the second battle of tarain fought?
(A) 1192 (B) 1526
(C) 1556 (D) 1761

The Gandhara art - a style of Buddhist visual art that
developed between 1st century BCE and the 7th

century CE, flourished largely during the dynasty.
(A) Kushan (B) Gupta
(C) Pallava (D) Maurya

Which ruler of Bengal had relations with China?
(A) Ghiyasuddin Azamshah (B) Sikandar Shah
(C) Nusrat Shah (D) Hussein Shah

The Kathopanishad captures the conversation between
a young boy named Nachiketas and a god. Which of
the following gods is talking to Nachiketas?

(A) Lord Yama (B) Lord Karthikeya

(C) Lord Indra (D) Lord Shiva

The earliest reference to sati custom is made in which
of the following inscriptions?

(A) Allahabad Pillar inscription

(B) Eran inscription of Bhanugupta

(C) Aihole inscription of Pulkesin II

(D) Bhitan inscription of Skandgupta

The famous Dilwara temples of Mount Abu are a sacred
pilgrimage place for the
(A) Buddhists

(C) Sikhs

(B) Jains
(D) Parsis

Which dynasty was ruling in Vijaynagar empire at the
time of the Battle of Talikota?

(A) Sangam (B) Aniridu

(C) Tuluva (D) Saluva

Ustad Mansur was a famous painter of which Mughal
ruler's regime?
(A) Akbar

(C) Shah Jahan

(B) Jahangir
(D) Aurangzeb

The Mumbai Stock Exchange was set up in

(A) 1880 (B) 1930

(C) 1847 (D) 1875

The Indian State having largest Buddhist population is

(A) Uttar.Pradesh
(C) Gujarat

(B) Haryana
(D) Maharashtra

92.

93.

94.

95.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.
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Which of the following are the two volcanic Islands in
the Indian Territory?

(A) Kavaratti and New Moore

(B) Bitra and Kavaratti

(C) Pamban and Barren

(D) Nacondam and Barren

Which among the following states is building the Bharat
Bangladesh Moitree Udyan?
(A) Nagaland

(C) Meghalaya

(B) Tripura
(D) West Bengal

The Gandhi Sagar Dam is built on which river in
Madhya Pradesh?
(A) Narmada

(C) Son

(B) Chambal
(D) Tapti

Tuirial Hydro Electric Project is located in which state?
(A) Manipur (B) Mizoram
(C) Sikkim (D) Arunachal Pradesh

“National Seed Research and Training Centre” is
located at?
(A) Pune
(C) Delhi

(B) Varanasi
(D) Bhopal

Which of these states primarily depends upon the
thermal power?
(A) Karnataka

(C) West Bengal

(B) Kerala
(D) Tamil Nadu

The K2 Peak is located in which among the following
ranges?

(A) Karakoram range
(C) Central Himalayas

(B) Trans-Himalayas
(D) Kumaun Himalayas

“Indira Gandhi super thermal power project” is located
in which state?
(A) Panjab

(C) Haryana

(B) Rajasthan
(D) Gujarat

Which among the following is the most optimum place
to source Geothermal Energy?

(A) Himalaya (B) Konkan coast

(C) Coromandal Cost (D) Ladakh district

Which country known as The Land of the Morning Calm
is?

(A) Japan
(C) Indonesia

(B) Malaysia
(D) South Korea

Dogger Bank, Rockfall Bank, Wales Bank and Sand
Bank are located in which Ocean?

(A) North West Atlantic (B) North East Pacific

(C) North East Atlantic (D) North West Pacific

Cod, haddock, halibut, sole, group a and snapper are
type of .

(A) Major species of Tropical Forests

(B) Cattle breeds

(C) Fish

(D) Pacific Islands

Botswana was formerly known as .
(A) Bechuanaland (B) Bahamas
(C) Barbados (D) Cameroon

The 'land of eternal spring' are certain parts of which
region?

(A) Tundra region

(B) Highland region

(C) Mediterranean region

(D) Hot Wet Equatorial region
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106.

107.

108.

109.

110.

111.

112.

113.

114.
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Which one of the following states does not have the
legislative council?
(A) Bihar

(C) Tamil Nadu

(B) Maharashtra
(D) Telangana

In which of the following years the fundamental duties
have been added to the existent fundamental rights in
the Constitution of India?

(A) 1965 (B) 1976
(C) 1949 (D) 1992
With reference to the Parliamentary system of

Government, the ministers of the government are
collectively responsible to:
(A) The President

(C) Supreme Court

(B) The Prime Minister
(D) The Parliament

Which of the following pairs is/are correctly matched?
Provisions Schedules

A. Anti-defection - Twelfth Schedule

B. Oaths or Affirmations - Second Schedule

C. Languages recognised by the Constitution - Tenth
schedule

D. Allocation of seats in the RajyaSabha - fourth
Schedule

Consider the following statements:

1. The directive principle is meant to establish Political
Democracy.

2. The directive principle is meant to establish Social
Democracy.

3. The directive principle
Economic Democracy.
Which of the statements given above is/are correct?
(A) 1L only (B) 1 and 2 only

(C) 2 and 3 only (D)1,2and 3

is meant to establish

Consider the following statements:

1. Indian citizenship can be acquired by birth, descent,
registration, and naturalization.

2. The conditions and procedure for acquisition of
Indian citizenship as per the provision of the Citizenship
Act, 1955.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. There are 21 high courts at present in India.

2. The three new high court are Meghalaya, Manipur
and Tirpura.

Which of the statements given above is/are NOT
correct?

(A) 1 only

(C) Both1and 2

(B) 2 only
(D) Neither 1 nor 2

Consider the following statements:

1. International boundary between India and Pakistan is
demarcated by Radcliffe Line.

2. Calcutta High Courts has the territorial jurisdiction
over Andaman and Nicobar Islands.

Which of the statements given above is/are NOT
correct?

(A) 1 only
(C)Both1and 2

(B) 2 only
(D) Neither 1 nor 2

Consider the following statements:

1. The idea of incorporation of the Concurrent List in the
Indian Constitution has been borrowed from the
Constitution of Australia.

2. The first country to introduce the institution of
Ombudsman (Lokpal) was Sweden.

Which of the statements given above is/are correct?

115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.
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(A) 1 only
(C) Both 1 and 2

(B) 2 only
(D) Neither 1 nor 2

Which part of the constitution is related to president

post?
(A) Part-4 (B) Part-5
(C) Part-6 (D) Part-7

Consider the following statements:

1. The Chief Justice of Hon'ble Supreme Court acts as
President of India in absence of both President and
Vice president.

2. In case of absence of chief justice, the senior-most
judge of Supreme Court acts as President.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

In which article of the Constitution is the process of
amendment of the constitution mentioned?
(A) Article-352 (B) Article-356
(C) Article -368 (D) Article-355

President declares the financial
which Article of the Constitution?

(A) Article-352 (B) Article-356
(C) Article -360 (D) Article-361

emergency under

Under which article of Indian Constitution is the
provision of the formation of the Finance Commission?
(A) Article-249 (B) Article-280

(C) Article-368 (D) Article -370

Consider the following statements:

1. The number of Legislative Assembly seats in
Madhya Pradesh is 231.

2. The number of Legislative Assembly seats in Uttar
Pradesh is 404.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

When was the Prime Minister Skill Development Plan
launched?

(A) 21March, 2015
(C) 21May, 2015

(B) 21April, 2015
(D) 15 July, 2015

The degree of monopoly power is to be measured in
terms of the firm’'s?

(A) Normal profit

(B) Supernormal profit

(C) Both normal and supernormal profit

(D) Selling price

Effective demand depends on?
(A) capital-output ratio (B) output-capital ratio
(C) Total expenditure (D) Supply price

Who propounded the Innovation theory of profits?
(A) J.A. Schumpeter (B) P.A. Samuelson
(C) Alfred Marshall (D) David Ricardo

Under perfect competition, the industry does not have
any excess capacity because each firm produces at the
minimum point on its-

(A) long-run marginal cost curve

(B) long-run average cost curve

(C) long-run average variable cost curve

(D) long-run average revenue curve

By the use of photovoltaic cell while converting solar
energy which of the following is produced?
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127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.
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(A) Light energy
(C) Chemical energy

(B) Electric energy
(D) Heat energy

Hydraulic brakes used in automatic vehicles is direct 140.
virtual application of which law?
(A) Pascal's law (B) Archemedes' principle
(C) Charles law (D) Boyle's law
Which among the following is a light sensitive device 141.
used for converting images to their digital form?
(A) Joystick (B) Monitor
(C) Scanner (D) ROM
When an object is kept between two parallel plane 142.
mirrors then what is the number of images formed?
A1 B) 2
©) 4 (D) Infinite
Who among the following first used and when the term 143.
Nanotechnology?
(A) Richard Feynman, 1959 (B) Norio Taniguichi, 1974
(C) Erie Drexler, 1986 (D) Sumiolima, 1991
Which of the following is not a web browser? 144.
(A) Opera (B) Google Apps
(C) Vivaldi (D) Mozilla firefox
DuckDuckGo is a- 145.
(A) Search engine (B) Web browser
(C) Virus (D) News web site
Heat given to a body which raises its temperature 1
degree Celsius is known as- 146.
(A) Water equivalent (B) Thermal Capacity
(C) Specific Heat (D) Temperature gradient
Which of the following laws was formulated was 147.
Nernst?
(A) First law of thermodynamics
(B) Second law of thermodynamics
(C) Third law of thermodynamics
(D) All of the above
What is the S.I. unit of force?
(A) Kg m/sec2 (B) Kg m/sec
(C) Meter/sec (D) Kg sec/m2
Why boiling point of water decreases with altitude?
(A) Low pressure (B) Low temperature
(C) High temperature (D) High pressure 148.
When a piece of stone is immersed in water, it
displaces water of equal-
(A) Density (B) Specific Gravity
(C) Mass (D) Volume
149.
First law of thermodynamics is normally related to-
(A) Charles’s law
B) Boyle’s law
(B) Boy 150.

(C) Newton’s law of cooling
(D) Law of conservation of Energy

What is the standard unit of the mass?
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(A) Quintal
(C) Gram

(B) Kg
(D) Newton

Which is the force that takes place between two
magnetic poles?

(A) Electrostatic force
(C) Gravitational force

(B) Magnetic force
(D) All of the above

Which one of the following metals is less reactive than

hydrogen?
(A) Barium (B) Copper
(C) Lead (D) Magnesium

The bonds formed by the partnership between the
electrons couples between the atoms are called -

(A) lonic bond (B) Covalent bond

(C) Co-ordinate bond (D) None of the above

The substance made with Iron is protected from rusting
by galvanization. The protecting metal used is-

(A) Silver (B) Copper

(C) Zinc (D) Nickel

Which among the following is known as Quick Lime?
(A) CaO (B)CaCO2

(C) Ca(OH)2 (D) CaCl2

Which one of the following elements exhibits the
greatest tendency to lose electrons?

(A) Fluorine (B) Lithium

(C) Oxygen (D) Zinc

Semiconductor devices are-
(A) Temperature dependent (B) Voltage dependent
(C) Current dependent (D) None of the above

The mass m is placed on a body of mass M. There is
no friction. The force F is applied on M and it moves
with acceleration a. Then, the net force on the top body

is.
I I
M

SR

(A)F (B) ma

(C) F-ma (D) None of these

A fuse wire is made of-

(A) An alloy of tin and copper
(B) An alloy of tin and lead

(C) An alloy of tin and aluminum
(D) An alloy of nickel chromium

Decibel is the unit of:
(A) Speed of light
(C) Intensity of heat

(B) Intensity of sound
(D) None of these

A positively charged body has

(A) Excess of electron

(B) Deficiency of electron

(C) Non change in number of electrons
(D) None of these
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Ans.1(B)
Ans.5(D)
Ans.9(A)
Ans.13(C)
Ans.17(A)
Ans.20(C)
Ans.21(B)

Ans.22(C)

Ans.23(A)

Ans.24(B)

Ans.25(C)

Ans.26(B)

Ans.27(C)

Ans.28(A)

Ans.29(B)

Ans.30(A)

Ans.31(D)

Ans.32(C)

Ans.33(B)
Ans.34(D)

Ans.35(C)

Ans.36(B)

Ans.37(C)

Ans.38(D)

Fb:-

Ans.2(A) Ans.3(D) Ans.4(B)
Ans.6(C) Ans.7(B) Ans.8(A)
Ans.10(B) Ans.11(D) Ans.12(B)
Ans.14(A) Ans.15(D) Ans.16(D)
Ans.18(D) Ans.19(A)

use defaulted in place defaulting.
use whether in place of if. The formal rule is to
use if when you have a conditional sentence and

whether when you are showing that two
alternatives are possible.

use deepen in place of deep.

replace largest in place of large. Use

superlative degree because we are talking about
one of the largest company.

use weaker in place of weak. When comparing
two things, you're likely to use adjectives like
smaller, bigger, taller, more interesting, and less
expensive.

Use remuneration in place of remunerations.
Here we are talking about singular form.

use credible Credible is an adjective which
means believable or trustworthy, convincing. As
a noun credibility is reputation impacting one's
ability to be believed.

use by in place of through. It is used in many
meanings and sentence structures. It is used as
a preposition, adverb, adjective and sometimes
in idioms. Most of them are listed below with
examples. It is used to depict the vicinity,
nearness or closeness Through can also be
used as a preposition, adjective, and adverb. In
a preposition followed by a noun like they were
passing through a jungle.

Remove had Exact time is given in the sentence
so we use simple past here.

use lower in place of fewer. Fewer" is countable,
and plural. She had fewer than 12 items in her
grocery cart. "Lower" is the comparative form of
"low". The dresser was lower than bookshelf.
Maintain means cause or enable (a condition or
situation) to continue.

Thin means with opposite surfaces or sides that
are close or relatively close together.

Loyal means giving or showing firm and
constant support or allegiance to a person or
institution.

Dependable means trustworthy and reliable.
Deeds means an action that is performed
intentionally or consciously.

Eat, sleep and breathe something.

Meaning - Being so enthusiastic and passionate
about something that you think about it all the
time.

Example - My son has recently learnt cycling.
He eats, sleeps and breathes it now.

With bells on

Meaning - When you are delighted and eager to
go somewhere, you are said to go with bells on.
Example - The New Year party at the beach is
most awaited. | will be there - with bells on.

First out of the gate

Meaning - Being the first one to make a start at
something.

Example - John and his friends had decided to
voice their opinion against the new economic
policy. John was the first one to be out of the
gate.

Going places

Meaning - Exhibiting talent and ability that will
lead to a successful future.

Ans.39(C)

Ans.40(A)
Ans.41(B)
Ans.42(C)
Ans.43(D)
Ans.44(A)
Ans.45(B)
Ans.46(C)
Ans.47(B)
Ans.48(A)
Ans.49(C)
Ans.50(B)

Ans.51(A)

Ans.52(B)

Ans.53(C)

Ans.54(C)

Ans.55(B)

Ans.56(D)

Ans.57(B)

Ans.58(B)

Ans.59(A)

Ans.60(C)
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Example - Rakesh was a performer at the
school sports club. It was obvious that he was
going places.

First out of the gate

Meaning - Being the first one to make a start at
something.

Example - John and his friends had decided to
voice their opinion against the new economic
policy. John was the first one to be out of the
gate.

lllegible

Penicillin

Adolescence

Marriageable

License

Part - B

BCG stands for Bacille Calmette Guerin. BCG is
a weakened (attenuated) version of a bacteria
called Mycobacterium bovis which is closely
related to Mycobacterium tuberculosis, the agent
responsible for tuberculosis.

Typhoid - Bacteria

Malaria - Protozoa

AIDS - Virus

Ringworm - Fungi

Allergic disease is one of the most common
chronic health conditions in the world. Hay fever
(allergic ‘rhinitis), eczema, hives, asthma, and
food allergy are some types of allergic diseases.
The word "vaccine" was created by Edward
Jenner. The word comes from the Latin word
vacca, meaning cow.

Examples of this form of articulation are found in
the hip, where the round head of the femur (ball)
rests in the cup-like acetabulum (socket) of the
pelvis; and in the shoulder joint, where the
rounded upper extremity of the humerus (ball)
rests in the cup-like glenoid fossa (socket) of the
shoulder blade.

You can get recommended amounts of vitamin
C by eating a variety of foods including the
following: Citrus fruits (such as oranges, Lemon
and grapefruit) and their juices, as well as red
and green pepper and kiwifruit, which have a lot
of vitamin C.

Snakes belong to the animal class reptiles. This
group also includes crocodiles, lizards, and
turtles. Reptiles are cold-blooded animals that
raise their body temperature by lying in the sun
or lower it by crawling into the shade.

Growth hormone (GH), also called somatotropin
or human growth hormone, peptide hormone
secreted by the anterior lobe of the pituitary
gland.

Pyorrhoea - Entamoeba gingivalis

Malaria - Plasmodium Vivax

Leishmaniasis - Leishmania Species

Sleeping Sickness - Trypanosoma Speciation
Presence of large amounts of nutrients in water
causes excessive growth of planktonic (free-
floating) algae, called an algal bloom which
imparts a distinct colour to the water bodies.

The phylum Mollusca is the second-largest
animal phylum, with over 100,000 species. The
molluscs include many familiar animals,
including clams, snails, slugs, and squid,
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Ans.61(C)

Ans.62(C)

Ans.63(D)

Ans.64(D)

Ans.65(A)

Ans.66(D)

Ans.67(2)

Ans.68(A)

Ans.69(A)

Ans.70(D)

Ans.71(D)

Ans.72(A)

Ans.73(A)

Ans.74(A)

Ans.75(C)

Fb:-

The colored part of the eye which helps regulate
the amount of light entering the eye. When there
is bright light, the iris closes the pupil to let in
less light. And when there is low light, the iris
opens up the pupil to let in more light. Focuses
light rays onto the retina.

The convex lens converges (concentrates) light
rays so that the eye's lens focuses them on the
retina.

Humon body main organ of balance is found
inside the inner ear. It is made up of three semi-
circular canals and two otolith organs, known as
the utricle and the saccule.

Primary xylem is of two types — protoxylem and
metaxylem. The first formed primary xylem
elements are called protoxylem and the later
formed primary xylem is called metaxylem. In
stems, the protoxylem lies towards the centre
(pith) and the metaxylem lies towards the
periphery of the organ. This type of primary
xylem is called Endarch.

Platelets are made in your bone marrow along
with your white and red blood cells. Your bone
marrow is the spongy center inside your bones.
Another name for platelets is thrombocytes.

A severe lack of vitamin D or calcium or both
can cause nutritional rickets and Scurvy
happens when there is a lack of vitamin C, or
ascorbic acid.

Pine oil used in froth floatation process because
it does not have affinity towards water (because
of the hydrophobic chemicals as its constituents)
and it attracts impurities which can be washed
away.

The material which can be deformed
permanently by heat and pressure is called a
thermoset.

Hydrogen gas is used for making vegetables
and vanaspathi from vegetable oils. As it is
colourless, odourless, tasteless, flammable
gaseous substance, it is added to oils to make
them more solid or spreadable.

The ionic radii of N3-, O2-, F- and Na+ follows
the order N3- > O2- > F- > Na+

Hydronium is the common name for the
aqueous cation H 30+ the type of oxonium ion
produced by protonation of water. It is the
positive ion present when an Arrhenius acid is
dissolved in water, as Arrhenius acid molecules
in solution give up a proton (a positive hydrogen
ion, H+) to the surrounding water molecules
(H20).

The alkali metals are the most electropositive.
Cesium is the most electropositive of the stable
elements. Atomic no:55

Ethylene CH2CH2 gas is used for ripening of
fruits. It is a naural hormone used by the plants.
Acetylene produced from calcium carbide is
banned.

Thermosetting polymers are cross-linked or
heavily branched polymers which get hardened
during the molding process. These plastics
cannot be softened again on heating. Examples
of thermosetting plastics include bakelite, urea-
formaldehyde resins.

Hans Christian Oersted from Denmark was
successful in 1825; however he apparently
produced an aluminium alloy with the elements
used in the experiments, rather than pure
aluminium.

Calcium oxide is used for cement and glass
making. and Along with sodium bi carbonate,
there is also Tartric acid in baking powders

Ans.76(B)
Ans.77(B)

Ans.78(C)

Ans.79(B)
Ans.80(C)
Ans.81(C)

Ans.82(A)

Ans.83(A)

Ans.84(A)

Ans.85(A)

Ans.86(B)

Ans.87(B)

Ans.88(C)

Ans.89(B)

Ans.90(D)

Ans.91(D)

Ans.92(D)
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Kalibangan is a part of the ancient Indus Valley
Civilization, located in present Hanumangarh
district Rajasthan.

The 24th and last tirthankara of present half-
cycle was Mahavira swami (599-527 BC).

Raja Dahar (663 — 712 CE) was the last Hindu
ruler of the Brahmin Dynasty of Sindh (present-
day Pakistan). In 711 CE, his kingdom was
conquered by the Ummayad Caliphate led by
General Muhammad bin Qasim.

Arab Muslims first invaded India.

Sultan alauddin got the title of Jahansoz

Battle of Peshawar, was fought on 27 November
1001 between the Ghaznavid army of Sultan
Mahmud bin Sebuktigin (Mahmud of Ghazni)
and the Hindu Shahi army of Jayapala, near
Peshawar.

Second Battle of Tarain. The Second Battle of
Tarian (Taraori) was again fought between
Ghurid army of Mohammed Ghori and Rajput
army of Prithviraj Chauhan. The battle took
place in 1192 A.D near Tarain. In this battle,
Prithviraj Chauhan was defeated by Mohammed
Ghori.

The Gandharan style flourished and achieved its
peak during the Kushan period Gandhara art
developed very rapidly during the time of
Kanishka. Stupas made by Kanishka in Bharhut
and Sanchi are examples of Gandhara art.
Ghiyasuddin Azam Shah was the third Sultan of
Bengal and the llyas Shahi dynasty. He was one
of the most prominent medieval Bengali sultans.
He established diplomatic relations with the Ming
Empire of China.

The Kathopanishad captures the conversation
between a young boy named Nachiketas and
Lord Yama.

Although the emergence of the practice of Sati
in Indian (predominantly Hindu) society is
considered since ancient times, its horrific form
can be seen even in modern times. The first
archival evidence of sati practice is found in 510
A. Eran inscription.

The Jain Dilwara temples of India are located
about 2% kilometers from Mount Abu,
Rajasthan’'s only hill station. These temples
dating back from the 11th to the 13th century AD
are world famous for their stunning use of
marble. The five legendary marble temples of
Dilwara are a sacred pilgrimage of the Jains.
The Battle of Talikota was fought between the
Deccan Sultanates and Vijaynagar Kingdom.
Sadasiva Raya of Tuluva dynasty was the
emperor of Vijaynagar at the time of the Battle of
Talikota.

Ustad Mansur (flourished 1590-1624) was a
seventeenth-century Mughal painter and court
artist. He grew up during the reign of Jahangir
(1605 - 1627) during which period he excelled at
depicting plants and animals.

Established in 1875, the BSE (formerly known
as Bombay Stock Exchange Ltd.) is Asia's first
stock exchange. The BSE is the world's 10th
largest stock exchange with an overall market
capitalization of more than $2.2 trillion on as of
April 2018.

According to the 2011 census, the largest
concentration of Buddhism is in Maharashtra
(6,530,000), where (77%) of the total Buddhists
in India reside.

The two volcanic islands in the Indian territory
are Narcondam and Barren. Narcondam is a
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Ans.93(B)
Ans.94(B)

Ans.95(B)

Ans.96(B)

Ans.97(C)

Ans.98(A)

Ans.99(C)

Ans.100(D)

Ans.101(D)

Ans.102(C)

Ans.103(C)

Ans.104(A)

Ans.105(D)
Ans.106(C)

Ans.107(B)

Ans.108(D)

Ans.109(D)

Ans.110(C)

Ans.111(C)

Ans.112(A)

Fb:-

small volcanic island located in the Andaman
Sea.

The Gandhi Sagar Dam is one of the four major
dams built on India's Chambal River. The dam is
located in the Mandsaur, Neemuch districts of
the state of Madhya Pradesh.

Tuirial dam is an earthfill and gravity dam on the
River Sonai near Kolasib in the state of Mizoram
in India. The primary purpose of the dam is
hydroelectric power production.

National Seed Research and Training Centre
(NSRTC) is located at Varanasi. This institute
has been has been notified as a Central Seed
Testing and Referral Laboratory (CSTL), with
effect from 1 April 2007.

98% of its come from coal based thermal power
stations. Thermal power generation accounts for
the highest proportion of coal consumption in
West Bengal.

K2 (Mount Godwin Austen), in the Karakoram
Range, situated in the Gilgit-Bluchistan district of
the Pakistani-administered portion of the
Kashmir region.

Indira Gandhi Super Thermal Power Project is
located between Khanpur Khurd (to south of the
plant) and Jharli village (to the north of the plant)
in Jhajjar district of Haryana.

Ladakh district the most optimal place to source
Geothermal Energy.

The old name of Korea is land of morning calm
(literal translation is morning brightness).

Dogger bank, rockfall bank, wales bank and
sand bank are located in North East Atlantic.

Cod, haddock, halibut, sole, garoupa and
snapper are types of Fish.
Formerly  the British protectorate  of

Bechuanaland, Botswana adopted its name after
becoming independent within the
Commonwealth on 30 September 1966.

Seven states have Legislative Councils. These
are Jammu and Kashmir, Bihar, Uttar Pradesh,
Maharashtra, Karnataka, Andhra Pradesh and
Telangana. Andhra Pradesh had a Legislative
Council from 1958, abolished it in 1985, and
reconstituted it in 2007.

The fundamental duties of citizens were added
to the constitution by the 42nd Amendment in
1976, upon the recommendations of the Swaran
Singh Committee that was constituted by the
government earlier that year.

The Council of Ministers is collectively
responsible to the House of the People (Lok
Sabha). Every State has a Legislative Assembly.
Certain States have an upper House also called
State Legislative Council.

Allocation of seats in the Rajya Sabha— fourth
Schedule.

Directive Principles of State Policy aim to create
social and economic conditions under which the
citizens can lead a good life. They also aim to
establish social and economic democracy
through a welfare state.

There are four ways in which Indian citizenship
can be acquired: birth, descent, registration and
naturalisation. The provisions are listed under
the Citizenship Act, 1955.

The Centre has constituted three new High
Courts in the northeast — Meghalaya, Manipur
and Tripura — taking the total number of High
Courts in the country from 21 to 24.

Ans.113(C)

Ans.114(C)

Ans.115(B)

Ans.116(C)

Ans.117(C)

Ans.118(C)

Ans.119(B)

Ans.120(C)

Ans.121(D)

Ans.122(B)

Ans.123(D)

Ans.124(A)

Ans.125(B)
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On 17th August 1947 the Radcliffe Line was
declared as the boundary between India and
Pakistan, following the Partition of India. The line
is named after Sir Cyril Radcliffe who was
commissioned to equitably divide 4,50,000 km
sq of territory with 88 million people.

The idea of incorporation of the Concurrent List
in the Indian Constitution has been borrowed
from the Constitution of Australia.

Sweden was the first country to set the
institution of ombudsman in 1809.

Part V of the Constitution (The Union) under
Chapter | (The Executive) lists out the
qualification, election and impeachment of the
President of India.

The President (Discharge of Functions) Act,
1969 of India provides that the Chief Justice of
India (CJl) (or senior most judge of SC in
absence of CJI) shall act as the President of
India in the event of the offices of both the
President and the Vice President being vacant.
Amendment of the Constitution of India.
Amending the Constitution of India is the
process of making changes to the nation's
fundamental law or supreme law. The procedure
of amendment in the constitution is laid down in
Part XX (Article 368) of the Constitution of India.
The president under Article 360 of the
constitution has the power to declare financial
emergency.

The Finance Commission was established by
the President of India in 1951 under Article 280
of the Indian Caonstitution. It was formed to
define the financial relations between the central
government of India and the individual state
governments.

Both 1 and 2

The National Skill Development Mission
launched by the Ministry of Skill Development
and Entrepreneurship on July 15, 2015, aims to
create convergence across sectors and States
in terms of skill training activities.

Supernormal profit is defined as extra profit
above that level of normal profit. Supernormal
profit is also known as abnormal profit. Abnormal
profit means there is an incentive for other firms
to enter the industry.

Effective Demand is "the demand in which the
consumer are able and willing to purchase at
conceivable price" simply saying if the product
price is low more will buy; but if the rates go high
then the quantity of the demand goes down.
Keynes used two terms: Aggregate Demand
Function or Price and Aggregate Supply
Function or Price to explain the determination of
effective demand.

J.A. Schumpeter's Innovation Theory of Profit.
Definition: The Innovation Theory of Profit was

proposed by Joseph. A. Schumpeter, who
believed that an entrepreneur can earn
economic profits by introducing successful
innovations

Under perfect competition, the firms operate at
the minimum point of long-run average cost
curve. In this way, the actual long-run output of
the firm under monopolistic competition falls
short of what is produced under perfect
competition which can be considered the
socially ideal output. This gives the measure of
excess capacity which lies unutilized under
imperfect competition.
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Ans.126(B)

Ans.127(A)

Ans.128(C)
Ans.129(D)

Ans.130(C)

Ans.131(B)

Ans.132(A)
Ans.133(B)

Ans.134(C)

Ans.135(A)

Ans.136(A)

Ans.137(C)

Ans.138(D)

Ans.139(B)

Ans.140(B)

Ans.141(B)

Ans.142(A)

Ans.143(C)

Ans.144(A)

Fb:-

Photovoltaics are best known as a method for
generating electric power by using solar cells to
convert energy from the sun into a flow of
electrons by the photovoltaic effect.

Pascal's law basically states that any pressure
applied to a fluid inside a closed system will
transmit that pressure equally in all directions
throughout the fluid. This law is the basic
principle that causes hydraulic power in heavy
construction machines to work.

Scanner is a light sensitive device used for
converting images to their digital form.

When the object is placed between two parallel
plane mirrors, Infinite images will be formed.
When the term "nanotechnology" was
independently coined and popularized by Eric
Drexler (who at the time was unaware of an
earlier usage by Norio Taniguchi) it referred to a
future manufacturing technology based on
molecular machine systems.

he distinction therefore between Chrome Apps
and Google Apps is that Chrome is a browser,
while Google Apps is not;

protecting searchers' privacy and avoiding the
filter bubble of personalized search results.

Heat required to raise the temperature of a body
through 1°C is called thermal capacity.

The Nernst heat theorem was formulated by
Walther Nernst early in the twentieth century and
was used in the development of the third law of
thermodynamics.

The S.I. unit of force is newton(N). newton can
also be denoted in fundamental units as kg. Kg
m/sec2.

As elevation increases, atmospheric pressure
decreases because air is less dense at higher
altitudes. Because the atmospheric pressure is
lower, the vapour pressure of the liquid needs to
be lower to reach boiling point. The boiling point
is lower at higher altitude.

Archimedes’ Principle states that upward
buoyant force exerted on a body immersed in a
fluid is equal to the weight of the fluid the body
displaces.

The First Law of Thermodynamics states that
heat is a form of energy, and thermodynamic
processes are therefore subject to the principle
of conservation of energy. This means that heat
energy cannot be created or destroyed.

The standard International System of Units (SI)
unit of mass is the kilogram (kg). first defined in
1795 as one cubic decimeter of water at the
melting point of ice.

The force between two magnetic poles is called
magnetic force.

The metals copper, silver gold and platinum are
less reactive than hydrogen and they do not
replace hydrogen from water or acid.

An ionic bond is a type of chemical bond formed
through an electrostatic attraction between two
oppositely charged ions. lonic bonds are formed
between a cation, which is usually a metal, and
an anion, which is usually a nonmetal. A
covalent bond involves a pair of electrons being
shared between atoms.

Galvanization or galvanizing (also spelled
galvanisation or galvanising) is the process of
applying a protective zinc coating to steel or
iron, to prevent rusting.

Calcium oxide (CaO), commonly known as
quicklime or burnt lime, is a widely used
chemical compound. It is a white, caustic,
alkaline crystalline solid at room temperature.

Ans.145(B)

Ans.146(A)

Ans.147(D)

Ans.148(B)

Ans.149(B)
Ans.150(B)
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This high hydration enthalpy compensates the
high energy needed to remove electron (in
second step). Thus, Lithium has greater
tendency to lose electrons in solution than other
alkali metals.
Semiconductor
dependent.
Since, no force of friction is present. So, no
horizontal force is present on body of mass m. In
vertical direction normal force balances weight of
the body. Hence, net force on top body must be
zero.

Fuse wires are made of Tin-lead alloy instead of
copper due to various reasons. This wire is
consisting of low melting point as well as the
have the high resistance.

Decibel is the unit of intensity of sound.

In an atom, a positive charge occurs when an
atom has more protons than electrons.

devices are temperature
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Direction (1-5) In the following passage there are blanks,

each of which has been numbered These numbers are
printed below the passage and against each, five words
are suggested, one of which fits the blank appropriately.
Find out the appropriate words.

Formal moral suasion is characterized by explicit
(though non-contractual) commitments to “(1)
from activities judged to be in conflict with policies of
the central bank”. Informal moral suasion is more
difficult to define and is (2) through various
conversations and interactions between the central
bank and the commercial finance institutions, during
which commercial institutions can be made to
understand the central bank’s policy (3) on
various matters. The oligopolistic competition in the
British banking sector has witnessed the success of
moral suasion as a monetary policy instrument,
allowing the central bank to control by persuasion and
directive. Given that only five major banks need to be
persuaded in England, a moral suasion policy
instrument is very (4) because non-
compliers can be immediately identified and held up for
censure, while in the United States where there are
many commercial banks, the Federal Reserve needs to
use legalistic controls to pursue the same ends. Moral
suasion has been effectively used in the management
of inflation in a number of countries and is also referred
to as “open mouth operations” in the financial sector.
The common factor for the success of moral suasion is
the trust that stakeholders have on the Central Bank.
For example, New Zealand has experienced high
inflation in the early and mid eighties which however
drastically (5) as the bank managed to anchor
stakeholder inflation expectation through moral suasion.
Monetary policy to a great extent is the management of
expectations, influencing inflation expectations of
business and labour.

(A) Disdain (B) Refrain

(C) Suffer (D) Different
(A) carried (B) accepted
(C) geared (D) reckoned

(A) manifesto
(C) agreements

(B) arrangements
(D) objectives

(A) Affected
(C) Attractive

(B) Effective
(D) Sedative

(A) Crippled
(C) Reversed

(B) Numbered
(D) Reduced

Direction (6-10) Read the following passage carefully and

Fb:-

answer the questions given below it.

A subsidy, often viewed as the converse of a tax, is an
instrument of fiscal policy. Derived from the Latin word
‘subsidium’, a subsidy literally implies coming to
assistance from behind However, their beneficial
potential is at its best when they are transparent, well
targeted, and suitably designed for practical
implementation. Subsidies are helpful for both economy
and people as well. Subsidies are having long-term
impact on economy like green revolution etc. are only
because farmers were given good quality of grain on
subsidised prices likewise we can see that how govt of
India is trying to reduce air pollution to subsidies Lpg.

Like indirect taxes, they can alter relative prices and
budget constraints and thereby affect decisions

2 | Page

concerning production, consumption and allocation of
resources. Subsidies in areas such as education, health
and environment at times merit justification on grounds
that their benefits are spread well beyond the
immediate recipients, and are shared by the population
at large, present and future. For many other subsidies,
however the case is not so clear-cut. Arising due to
extensive governmental participation in a variety of
economic activities, there are many subsidies that
shelter inefficiencies or are of doubtful distributional
credentials. Subsidies that are ineffective or
distortionary need to be weaned out, for an
undiscerning, uncontrolled and opaque growth of
subsidies can be deleterious for a country’s public
finances.

In India, as also elsewhere, subsidies now account for a
significant part of government’s expenditures although,
like that of an iceberg, only their tip may be visible.
These implicit subsidies not only cause a considerable
draft on the already strained fiscal resources, but may
also fail on the anvil of equity and efficiency as has
already been pointed out above. In the context of their
economic effects, subsidies have been subjected to an
intense debate in India in recent years. Issues like the
distortionary effects of agricultural subsidies on the
cropping pattern, their impact on inter-regional
disparities in development, the sub-optimal use of
scarce inputs like water and power induced by
subsidies, and whether subsidies lead to systemic
inefficiencies have been examined at length.
Inadequate targeting of subsidies has especially been
picked up for discussion.

This paper based on the study conducted by
Srivastava, Sen et al. under the aegis of National
Institute of Public Finance and Policy, and the
discussion  paper brought out by Department of
Economic Affairs( Ministry of Finance) in 1997, aims to
provide a comprehensive estimate of budget-based
subsidies in India In addition, recent trends have been
included from the Economic Survey for the year 2004-
05. Attention is focused on bringing out the magnitude
of the implicit subsidies, in addition to the explicit ones,
to form an idea as to how heavy a draft do they
constitute on the fiscal resources of the economy.

According to the passage how subsidy helped the
farmers?

(A) Farmers were given extra money without interest as
subsidy.

(B) The loans were waived off under the subsidy.

(C) Farmers were given off grain on subsidised prices.
(D) They were given compensatory amount under the
subsidy.

Which of the following is true as per the context of the
passage?

(A) Corruption is weeded out because of subsidy.

(B) Subsidies can be harmful for economy.

(C) There has been so much discussion about ending
the subsidy.

(D) Government creates vote bank via subsidy.

What has been one of the burning debates in India in
recent years?

(A) The discussion over subsidies.

(B) The discussion over corruption

(C) The discussion over the misuse of given subsidies.
(D) The discussion over economic survey discrepancies

As per the passage which of the following can be false?
(A) Like indirect taxes, subsidies can’t alter relative
prices.

(B) Subsidies not only cause a considerable draft.
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10.

(C) Subsidies are helpful for both economy and people
as well.
(D) All are false.

(A) SQRP (B) SRQP
(C) SPQR (D) PSQR

Direction (20-24) Read each sentence to find out whether

What is the intention of the author behind writing this

passage?

(A) The author is adamant on condemning the policies

laid down by government.

(B) Intention is focused on bringing out the magnitude

of the implicit subsidies.

(C) Author wants to reveal all the corruption behind the 20.
subsidy scheme.

(D) It has been written to reveal the loopholes in the
government.

there is any grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence.
The number of that part is the answer. If there is 'No
error', the answer is (D). (Ignore errors of punctuation, if

any).

The RBI circular directed (A) lenders to undertake
insolvency (B) resolution of defaulting companies with a
strict timeline (C) no error (D)

21. The Godrej Properties stock are (A) down 5 per cent
Directions (11-15) Choose the word or group of words which since the beginning of this month, and 20 per cent since
is MOST NEARLY THE SAME in meaning as the May on signs of slowing growth and if the (B) company
words printed in bold. can match the record sales it achieved in 2017-18. (C)
no error (D)
11. QUELL
(A) Abet (B) Suppress 22.  The Securities and Exchange Board of India (Sebi) had
(C) Support (D) Vanquish (A) last year allowed banks to enter commodity futures
trading for its retail customers. This was followed (B) by
12. ABRIDGE RBI also opening the sector for banks in a bid to deep
(A) Abort (B) Shorten commodity futures with a new class of traders. (C) no
(C) Rare (D) Urge error (D)
13.  RAPACIOUSLY 23. Toyota, one of the world's large carmakers, and (A)
(A) Satisfied (B) Threatening Uber Technologies Inc, the leading ride-hailing service,
(C) Greedy (D) Zealous are (B) widely seen as lagging the competition in
developing self-driving cars. (C) no error (D)
14. EFFICACIOUS
(A) Influential (B) Impotent 24.  The solvency ratios of the three general (A) insurance
(C) Incapable (D) Unproductive companies are much weak compared to their
counterparts in the (B) private sector and this barely
15. ENDEAVOR meets the regulatory requirement. (C) no error (D)
(A) Combat (B) Fight
(C) Campaign (D) Effort Direction (25-29) Read each sentence to find out whether

Direction (16-19) In the following question rearrange the parts

16.

17.

18.

19.

Fb:-

of the sentence in correct order.

Physical geographers are

P. make a place unique, and they are also involved in

Q. and processes that merge to 25.
R. the shared characteristics between places.

S. more concerned in exploring the environmental

features.

(A) PRQS (B) RPSQ
(C) SRPQ (D) SQPR
The Representation of People Act, 1951 26.

P. the representative bodies.

Q. of Indian egalitarianism because it checks

R. the entry of persons with illegal background into

S. has great significance for good functioning

(A) SQRP (B) SRQP

(C) SPQR (D) PSQR 27.

Although Indians spend

P. Formulations are available here.

Q. less money on allopathic

R. people in most countries more than 40,000 drug

S. medicines than

(A) PRQS (B) RPSQ 28.
(C) SRPQ (D) QSRP

There are certainly some

P. Welfare of mankind.

Q. Science and religion.

R. Both want the 29.
S. Things in common between

3 | Page

there is any grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence.
The number of that part is the answer. If there is 'No
error', the answer is (D). (Ignore errors of punctuation, if

any).

One of the country’s longest running reality shows,
Kaun Banega (A) Crorepati (KBC), will be back.
Amitabh Bachchan will once again anchor the show,
charging an (B) undisclosed sum that industry sources
said could be a increase over his previous
remunerations. (C) no error (D)

As part of its regular interaction with (A) political parties
to make the electoral process more transparent,
inclusive and credibility, the Election (B) Commission
(EC) on Monday met seven national and 34 regional
political parties. (C) no error (D)

India is set to stress its commitment to the proposed
Regional (A) Comprehensive Economic Partnership
(RCEP) pact at a (B) crucial trade ministers meet
beginning Thursday in Singapore, though a final call on
the issue will be taken through the Prime Minister's
Office (C) no error (D)

Last week, the commerce secretary had briefed (A) his
counterparts across ministries, including finance, steel,
textile and defense at the (B) Cabinet Secretariat on the
current state of negotiations and the way forward (C) no
error (D)

After receiving complaints that general insurers were
(A) settling claims with fewer amounts than the insured
declared value (IDV) in the (B) case of motor claims,
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the insurance regulator began its investigations. (C) no
error (D)

Direction (30-34) In questions below, there is one statement

30.

31.

32.

33.

34.

consisting of one blanc. You have to choose the option
which provides the correct word that fits blank
appropriately and in the same order making it
meaningful and grammatically correct.

We must learn to .......... a balance of our need and
desires to enjoy a happy life with what we already have.
(A) Maintain (B) Sustain

(C) Tolerate (D) Sacrifice

Respect is something you have to earn, you cannot
force it on others to respect you. There is a .............
line between Fear and Respect, every one of us should
understand it and do necessary corrections in our
personalities.
(A) Thick

(C) Trajectory

(B) Long
(D) Thin

Always stay in a company of a people who are ...........
and trustworthy. People, who listen to what you tell
them, are not always the ones you can count on when
you need them the most.
(A) Unreliable

(C) Loyal

(B) Treacherous
(D) Legible

Parents give us life, love and help in going right
direction, But Teachers show us how to live life, shows
us path and makes us self ........... so that we can pick
the right patd.
(A) Steadfast
(C) Unstable

(B) Dependable
(D) Wobbly

Cycleof ............ always gives us back what we give to
others. If we do good to others, our good will happen, if
we do bad to others, our turn will also coma.

(A) Cessation (B) Failure

(C) Idleness (D) Deeds

Direction (35-39) Choose the most appropriate Idioms: -

35.

36.

37.

38.

39.

Fb:-

My son has recently learnt cycling. He it now.
(A) Genocide (B) Buckle down
(C) Eats, sleeps and breathes

(D) Pathology

The New Year party at the beach is most awaited. | will
be there - .
(A) Make headway
(C) Raring to go

(B) With bells on.
(D) Going places

John and his friends had decided to voice their opinion
against the new economic policy. John was the ___.

(A) Xerox subsidy

(B) Have one's heart set on

(C) First out of the gate

(D) Sink your teeth into

Rakesh was a performer at the school sports club. It
was obvious that he was
(A) Red-tapism

(C) Buckled down

(B) Drouéht
(D) Going places

John and his friends had decided to voice their opinion
against the new economic policy. John was the

(A) Xerox subsidy

(B) Have one's heart set on

(C) First out of the gate

(D) Sink your teeth into

Direction (40-45) Choose the correctly spelt word: -

40.

41.

42.

43.

44,

45,

Coffee stains made the note

(A) llegible B) Ilegiblé
(C) llegable (D) lllegable
is an antibiotic used to cure many | all nesses.
(A) Penicillen (B) Penicillin
(C) Penicillen (D) Penicilin

is often called the awkward stage.
(A) Adolescense (B) Adolessents
(C) Adolescence (D) Adolscence

In some cultures, ___ young couples have prearranged
weddings.

(A) Marriagiable
(C) Mariageable

(B) Marrageable
(D) Marriageable

Getting a driver’s is a rite of passage for most

teenagers.
(A) License (B) Lisence
(C) Lycence (D) Lisense

The mayor highlighted the
her campaign speech.

(A) Encouredging

(C) Incurraging

statistics during

(B) Encouraging
(D) Incouraging

Directions (46-48) Choose the word or group of words which

46.

47.

48.

is MOST NEARLY THE OPPOSITE in meaning as the
words printed in bold.

Startled

(A) Surprise (B) Frighten
(C) Calm (D) Scare
Emerge

(A) Rise (B) disappear
(C) show (D) surface
RAMP UP

(A) dwindle (B) increase

(C) throttle (D) push

Directions (49-50) Choose the word or group of words which

49.

50.

51.

52.
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is MOST NEARLY THE SAME in meaning as the
words printed in bold.

SURPLUS

(A) Tiny (B) Null

(C) ample (D) meager

Disrupted

(A) appease (B) disturb

(C) soothe (D) calm
Part - B
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53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

Fb:-
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use defaulted in place defaulting.
use whether in place of if. The formal rule is to
use if when you have a conditional sentence and

whether when you are showing that two
alternatives are possible.

use deepen in place of deep.

replace largest in place of large. Use

superlative degree because we are talking about
one of the largest company.

use weaker in place of weak. When comparing
two things, you're likely to use adjectives like
smaller, bigger, taller, more interesting, and less
expensive.

Use remuneration in place of remunerations.
Here we are talking about singular form.

use credible Credible is an adjective which
means believable or trustworthy, convincing. As
a noun credibility is reputation impacting one's
ability to be believed.

use by in place of through. It is used in many
meanings and sentence structures. It is used as
a preposition, adverb, adjective and sometimes
in idioms. Most of them are listed below with
examples. It is used to depict the vicinity,
nearness or closeness Through can also be
used as a preposition, adjective, and adverb. In
a preposition followed by a noun like they were
passing through a jungle.

Remove had Exact time is given in the sentence
so we use simple past here.

use lower in place of fewer. Fewer" is countable,
and plural. She had fewer than 12 items in her
grocery cart. "Lower" is the comparative form of
"low". The dresser was lower than bookshelf.
Maintain means cause or enable (a condition or
situation) to continue.

Thin means with opposite surfaces or sides that
are close or relatively close together.

Loyal means giving or showing firm and
constant support or allegiance to a person or
institution.

Dependable means trustworthy and reliable.
Deeds means an action that is performed
intentionally or consciously.

Eat, sleep and breathe something.

Meaning - Being so enthusiastic and passionate
about something that you think about it all the
time.

Example - My son has recently learnt cycling.
He eats, sleeps and breathes it now.

With bells on

Meaning - When you are delighted and eager to
go somewhere, you are said to go with bells on.
Example - The New Year party at the beach is
most awaited. | will be there - with bells on.

First out of the gate

Meaning - Being the first one to make a start at
something.

Example - John and his friends had decided to
voice their opinion against the new economic
policy. John was the first one to be out of the
gate.

Going places

Meaning - Exhibiting talent and ability that will
lead to a successful future.

Ans.39(C)

Ans.40(A)
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Ans.42(C)
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Ans.58(B)
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Ans.60(C)

Ans.61(C)

Ans.62(C)

Ans.63(D)
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Example - Rakesh was a performer at the
school sports club. It was obvious that he was
going places.

First out of the gate

Meaning - Being the first one to make a start at
something.

Example - John and his friends had decided to
voice their opinion against the new economic
policy. John was the first one to be out of the
gate.
lllegible
Penicillin
Adolescence
Marriageable
License
Ans.46(C)
Ans.49(C)

Ans.47(B)
Ans.50(B)

Part - B

it &1 gof 99 Swa dade ERA g1 iish
ARHINRINTH T THe SHKINAT BT T HHNR
(@&fio) TR B O ARGNEINGH SRy
fpedr @ Tefia B, St aufee & forg iR wole 1
TRHILS - SaRAr

HARET - WerSaf

TS - IERY

qC - HAD

Totol Bt STHRT g H Tad STH QR Wy fRufeat &
A TH g1 BIaR (Tafls JgATsiew), ufdemy, foxh, s,
IR BE TS $& UHR I Teoll &I SR &1
"R Teg TSIe SR gRT ST TT UT| T§ oG
<ifet 2eq 9o & o1 8, forept 3red TRy B .
T UHR & Sigedl B Iergul 7 U od §, Sigt
R (e &1 Ma RR ey & Hu-o tRiergay
(@idpe) F X1 3; 3R H8 & Sis &, el g () 3
M FR W $Y & =S S HU-OY WIS BT
@idpe) & Tt ]l

3 Fgffea afed (It voR & @ gerdf @R
ferftm & &t or=ifa 7E U R WHd 7 |E Ba
O TR, Fg 3R SR 3R 3% 3, Y g Y T
3R g8 fird oIk Pidivpe, fomw e &t sga sar 81
Y TR o7 TRIgU & § 1 39 99 § TTRAWS, Busdt
3R HgT it W &1 TGy 38 G IS TER & S
3T IRR & qIAA P YU F dedx a1 ST § 37 TR
FABW I

Ty g (©lie), 5 SeefE ar o s s
Wt o1 I &, fUegedt smH N fiegedt iy Ry
Fifad forar wra 21

T - TresrHtaT ffrafed

TR - WRATSTH SIgaad

PIeT 3R - forerdfar whixfier

R - fem e

U & 98t A H Ovd dd! &1 SurT § Waw (ad-
A R B AfE gig Bt B, B uw sr@Ta
S $El AT § S o ARl B Uh SR T UgH
HRAT 81 100,000 I 31fAF TSIt & WY HIeRDT GERT
T8 931 BIEaH gl Ao | o3 URRId Sig i &
foras aow, i, W 3R f&pe it g1

3G HT T R S 3Rg & 7w HA el YT Bi
T & [IFafid 37 § Aeg &Ral 81 o Ssad YT
BT 8, I SMERY Yach &I HH AT H o P g sig
PR <A1 81 3R TF Y AR B @, af MR et
Y A= H S Iar 71 e W UB fHRon oY
FiZd PRaT T1 I AF UPT fHR0N BT TH (D)
HRAT S NP 3T BT AY I8 e TR Higd B
HHd YRR & e BT G-I 371 3fidRd BH & e
TR O 81 8 A SfdqueR et SR @ siidifery
ST & & B 7, o gfewa 9IR TSIy & wu H
EIEISISIE]

YA W3 &l YR &1 Bl 8- Ueesad 3R
eI Ugd Tidd Wufiies ey ddl &l Wiessad
HET T § R g H Tfed Ui wigad &l

Web :-



https://www.facebook.com/tesmuseduserve
https://tesmus.com/

NDA_GAT_2024

Ans.64(D)

Ans.65(A)

Ans.66(D)

Ans.67(2)

Ans.68(A)

Ans.69(A)

Ans.70(D)

Ans.71(D)

Ans.72(A)

Ans.73(A)

Ans.74(A)

Ans.75(C)

Ans.76(B)
Ans.77(B)

Ans.78(C)

Ans.79(B)
Ans.80(C)
Ans.81(C)

Ans.82(A)

Ans.83(A)

Ans.84(A)

Fb:-

HeToged Hel ofidl 21 Ius §, TesTged $g & 3R
fRua g1 § iR Acosad 3 & uRfY o1 3R g1 8
?W$mmwﬁnwﬁawwm
[

Wedey 3P The 3R AT Iad BB F I1Y-
Y TP SR A= B a7 B &1 MU iRy T
TI! Bt & ofeR TWelt % 81 Weddd &7 gERT A
SISy B
feTfir St iy @t 5 Raey &1 RO a7 T
% 3R W df 99 21 2 oie R W, o1 T T
P B B B
B UdlexH ufthdr H I fHU M a1 Uz ad
Fife 398 U & URY Snefiad el it @ @I s
Yoo & U T SESIBING W) 3R U8 YA B
M a2 fr e o waaT 21
9% grEht o T iR gere 9 wiRht U ¥ fagd fea
ST bl g 39 YA BT Sdl g

T &1 I gl R g7 aa 4
TI@id §91 & fou fhar oiar g1 9 6 a8 FEH,
Tiygie, S%aTe, Saaeie T yar €, 3% aifie S
M grar R & o Jat # freman S g
N3-, 02, F- 3R Na + P 3f-e IS M N3- >
02- > F- > Na+ T 3I8RU HRal 7

ST BT H 30 + & UHR BT IHHT A1H
2 Sl ol & Ui gRT Sdifed SieaH 3mae o
YR 3| T8 dd HIvE Yo7 31 il & oid 3RRag
3t U W ga ofraT §, i faeeH o erefmw sna
U] SN & S & UST (H20) B T UieH @&
YT BN ST, H +) @ﬁgéﬁ%l
wmmmm%lmmm
FT I i fIggd UaTe 81 3UH! WRHTY] HHI®: 55

!

Bl B U & o TR CH2CH2 719 1 JuaiT e
ST 81 U8 Uil gRT SN fhaT ST aTa U Uisfas
FH 81 Sk wrefss § Iaifed wRikd w
ufasre & far T g

JTTAfET UifenR iy-fofes a1 YRY 577 ara uifemR & S
T ufthar & GRM HoR & o 31 37 WIS Bl
SIRT T HA W R 6T fHar S gvdr g1 yERfeT
Lmﬁ\cqv%% SRR H dadse, gRAT-BrHcsess oM
a

ST B g9 forfa side 1825 & Iwd @ 3; gIetifs
3ITH WY ¥U ¥ [ TGHIFE S g wanT |
JTNT fhU T dal & Y Th Tegdi-od sy org &1
Jare fopa

PRI SHRAZS BT IUTNT e 3R B I & forg
foa ST § | WfSam a1 Fae & Iy, dfdT ueeR |
TR TR M grar g1

P aad IHMTG fore o™ & RRd ureiA
ey a1t Tegar 1 U e B

A 318 °F BT 24 1 SR 3ifaw el AgrdiR @t
(599-527 AT 4d) 3|

el QMR (663 - 712 %) NIy Urg & SRV IwiaW
@cdaH T & sffaw g s 31 711 St 7
TR GeWe 9 SIRM & g d IWg Halie gRI
Fh T W o g &t 1S ot

3RE GHAHM! A Uga YRA TR 3MTeHHUT foba|

Yo SATSE I SRSl Bt Jurfy fireft|
UIMeR Bt ASTS, 27 FdsR, 1001 Pl UMR & I Foa
TgYg fom Agfaafia (ot & HeHg) SR SIauTe &t fig
T A1 & ST TreIiaa I & o el 718
TR BT GIRT G @RI P g9 TTS R I Higwig
Wﬁqﬁz@mﬁwq@wﬁ%ﬁﬁw@m%
o9 TS T | RIS & UM 1192 AD B IS g5 SU IS
#, qediRTol e HigwE TR gR T |

PO BT T TYR AH BT IbY gof 3R S{TAT IRA
BIRd o, B & 97y H YR el §gd deil 9
fIoiid g3 REd SR Ui # $H §RT F91C T WU
YR FHell & IaTeR0T 5 |

TGS 3O W8 S & R gead 3R sferam
R 4% | T8 qaY UG HABIRI Set edHl H

Ans.85(A)

Ans.86(B)

Ans.87(B)

Ans.88(C)

Ans.89(B)

Ans.90(D)

Ans.91(D)

Ans.92(D)

Ans.93(B)
Ans.94(B)

Ans.95(B)

Ans.96(B)

Ans.97(C)

Ans.98(A)

Ans.99(C)

Ans.100(D)
Ans.101(D)
Ans.102(C)
Ans.103(C)

Ans.104(A)

Ans.105(D)
Ans.106(C)

Ans.107(B)

Ans.108(D)

Ans.109(D)
Ans.110(C)

2 | Page

TEST ID - ERS - 878721509

& J| IgH 94 & T AT & WY oS ey
1Y fopul
FHOUFAYE UTaH 99 & 3R T Afadd AW gal
TSP & od B aliid Bl ST gl
YT & TROT TG § it Tl BT Ul 1& UTed gt
YRA & O RaarsT AR AT o1g, ISR & THIH
fod WA ¥ AT 2 from fpamfier @t gt R Ry §1
11 6 § 13 9f TAIsd] S dF & F R TR &
eyfee Iua & for fay uRig €1 fidarst & i
RO TR AR Sl 1 U ufds i 81
drefieler B des SaPh Teddd 3R ISR Iy
F fig TS T2 | AR & gg & THT g9 9 &
TeITRIG I faSaR & 9me 3
(1605 - 1627) JHIG HYX (1590-1624 F I gom
TEd I & T REGR R RN FAGR | I8
TEHIR (1605 — 1627 3.) & DA P R ¢, o
3fafty & SR ST Urelf 3R SIFaRY 7 feror faam|
1875 # wifid, fiwes (R vgd s Tid taa
fafiiee & AW § ST ofrar Ty TRET &1 Ugdl Wie
TR 81 30 2018 d 2.2 fer SR ¥ oifdes &
Y SR Yol & 1y s gfan &1 10 af Ja
ST T TRl g
2011 P} THIOAT & IR, NG o B T8 IS G
TERTY (6,530,000) & €, 6T YRd & Bt Sg BT (77%)
e #d 81
YRAT &7 & & A g ARGISH R &R §
%Rﬁgusmﬁwﬁ@mw@aqu@m
|

e IR Sy YR & d9d et W o7 IR TG il §
gw%mﬂuwmm%ﬁﬁ,mﬁ@ﬁﬁw

|
TRTd iy YR H FIeiRT I § SIemE & U Qs
T W TH YHU iR g Sy g1 oY HT wrufs
I TSIl Sare g

ST SIS SFTHYN iR UfIam $5 (NSRTC) IR H
R 81 39 TRIM &Y 1 30d, 2007 F HT st qleqor
gﬁiwm(csnﬁwﬁw@qﬁﬁmw
|

BT 98% BT MR YTfd graR R ¥ 31l g
Ui S | $Id B @Ud & IAdH U & g
T OTaR SRR 9T § |

FUR &7 & UhaH yiiid R & fafa
SR ot @ fRud PRIeRA I 7 k2 @Nde Mefa

3wR) 7

ST et guR e TR ufkae sRamn & seR fora

T W G (@ a0 B) R FRel g @i

SWH FIaRETI

TERG T T Ja S RIF Y-aT01g ot T i g

HINRAT BT QAT ATH Jog B Aid ¥ § (e 3dTE

S8 B THG ©) |

Jedifes | Ry g

%ﬁ%ﬁ 2T, Bfefge, TId, TRIUT 3R AR AR b THR
[

30 RydaR 1966 1 AyHed & HidR W g1 & I,

IS A I ATH ST

ra o4t | faye oo §1 3 § oi-SeR, figR, 3w
TG, TERTY, PrAlCep, 3y USR SR AT sy Ta=T
T 1958 ¥ T fquT uRug o, T 1985 & @ H< fean
3R 2007 W T Gfa fwan

TR B HAYd et &I Ty H 1976 T 42
RN GRT SIST 7T T, 39 9N WBR gRT Tfdd o
iz afafa & R w|

HfuRyg U 4 dle 94 @HaH) & ufd
IR Bl 81 8% W9 H Uah fau quT 81 5 I &
% 3 T ¢ O I faerm uRwe o w1 Sirar 31
sy el & rde - arf s H

Ty Hifd & Fdve Rigidl &1 Iexg amie 8k
e FRufa ST § forads dgd AN U 33T Sita

Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

NDA_GAT_2024

Ans.111(C)
Ans.112(A)
Ans.113(C)
Ans.114(C)
Ans.115(B)
Ans.116(C)
Ans.117(C)
Ans.118(C)
Ans.119(B)
Ans.120(C)
Ans.121(D)
Ans.122(B)
Ans.123(D)
Ans.124(A)
Ans.125(B)
Ans.126(B)
Ans.127(A)
Fb:-

S Ihd &1 3 HAUBR] Iod P HILTH F IS 3R
3if Aepda RIfid & &1 W Jea [ad g
Wwﬁwwmﬂ%aﬁaﬁﬁw, g,
UollRU 3R WIPIAbHR0TI Traui &l AR
HffTH, 1955 & ded ellag foar T B
¥ 3 qaR B & Y I A BT e R @ -
Uy, IR IR AR - 39 & = el &t $d
T 21 9 24 A TR B
17 3T 1947 BT YR fIHSH & T1¢ ISFaw 3T B
HRA 3R Uifbed™ & o= W aif¥d fovar man| ag &1
I W (RS Yefdaw & W ® W@ m §, R 88
forfera & & Ty 4,50,000 fEHY avf &7 & fawifoa
I & fore R fpar mar ol
YRd dfaym # woadf gt & wwHew &1 faur
Sffeefern & Tfae ¥ IUR foran mar 1 1809 H diwura
TRIT RITUT H aTa WS ugell a1 Tl
3T | & T WIAU (FH) BT HFT V HRd b IgUfdd i
g, AT 3R ARG &) Yellag Hdl gl
HRA & @ THR) AT, 1969 & I8 Urae™
7 % YR & TRy =mansdir () @ o)l Bt srurifa o
SC & aRgdH maei) 3R P UG
e 81 R YRd & IPUfd & ¥ H A
YRd & TRYM &1 M| YR & Ifae & Jied
FRAT I & WS BT 1 Jated S H 96Ad B
@ ufebar g1 T & T2 31 ufehar WRd & IfdyE
%wmxx&a?}?:%s)ﬁwﬁné%l
Jfdu™ & 3f=E 360 P dgd APUd & U™ fadi
3MUTdHTe TN B B T 21
o AT &) WA YR & F 1951 H URAT
@%ﬂﬁ%@lﬂ@‘c{zso%ﬂ%a At 3BT TS HRA
Bl g WDHR MR AfRATT I8 WHRI F 91 fada
Tael o gy B34 & fore s mar |
1 3R 2 gHF
aﬁwmaﬁ?wﬁmwmwsﬂézmsaﬁ
& fobar P fyerg fBreF, Sie uliam
Tﬂ%ﬁfﬂ@féﬂ'c{ F 85 3R o0l B SARIERO SR BT
e @A B
TR TH B IR aH & TR A SR SifalRed amy
F w0 7 uRyida far T g1 MW aH @
SR AH & G § HY ST Sl 81 SRR 1 BT
W%%ﬁmmvﬁq‘fﬁmﬁmmaamw
M 21

ﬁa&ﬁsﬁ%a‘rmaﬁwws‘raﬁ%lmﬁﬁ
T3] BT S fBar gHd 77 & Fulkor &t wme
A & fau wivle feris ware a1 gou 3R witle
TS GaRM a1 gl |

AHd ¥ fb T ITH Yol FAEIRT B Y& B 3
Y HH bl 81
eI yfereged & ded, bulEl od ¥HY 96 gad ard

IAGA ¥ F g o § O g 9§ siresf
ITe AT ST Febdll & | T8 e & &1 /1Y 3T @
it 3o ufegef & ded e 2

Bicklees® UHE & U & J I ol B gadeH &
yag ¥ uRafda 7 & faw IR Sifkwrel &1 IugnT
e fdggd Wfad AT A & [T Bicidifecd &I
T 33t fafr & =0 § ST ST 81

URGA BT g0 7d T ¥ Fardr ¢ o il dg Ren &
3R frdt Re verl R @mET T HIS <Ed 39 <ad
P QX ga ot femmeft g9 wU @ Hild s I8
P gfare) Rigid & S & B & forg urdt ffor
TR H grggifere Wi o7 BRI §a1 3|

Ans.128(C)

Ans.129(D)

Ans.130(C)

Ans.131(B)

Ans.132(A)

Ans.133(B)

Ans.134(C)

Ans.135(A)

Ans.136(A)

Ans.137(C)

Ans.138(D)

Ans.139(B)

Ans.140(B)

Ans.141(B)

Ans.142(A)

Ans.143(C)

Ans.144(A)

Ans.145(B)

Ans.146(A)
Ans.147(D)

Ans.148(B)

Ans.149(B)
Ans.150(B)

3 | Page

TEST ID - ERS - 878721509

R TP UHN Fde2iid IUBU § o1 Iuam
wﬁu’%ﬁw%ﬁmwﬁ F & forg fama
STl

e A% B &1 MR THad U & sie a1 SIe, o
3 o 9|

S " QTS Weq BT WA Y F T T 4T 3R
U TS STER (Sl I FHY AR AR §RT Usd &
ITNT § AT B) gRT Aoty far T o1, O U8
iy #=f= yonferdl W enuilRa yiesy @t fmfor
TGP BT IeaRd UT|

I8 W TR 3R Google Apps & &I 3R Pl &,
ggferg f& Chrome T TSR % SEIET Google Apps

T B

DuckDuckGo (DDG) T% T ¥d So g o
P MU B &1 B 3R ARG T

RO} & ftheex 3T q g9 W SR ST g

TR 1 C & 719 § IRR & 99 P g1 & fore
TTRID FSAT B SHSH &l BT STl 2|

T gic THg &) d9dl WA F RY H IIRR T
BRI QTR foan T U7 3R 3BT IUUNT YH SR &
TR g & yera & forar mar an

I B S| 5P T (N %Iwﬁ 4d g1l &
Kgm/seczaiwff'l-ﬁ rg’

Ny SIS ot ©, amsr«ﬁua‘mam%a?ﬂ%
Gﬁﬁﬁmwwﬁsﬁ%l@frﬁ?a@ﬁ@u
3919 FH g, TRA & a1 919 Pl HYAH a6 Uga &
g?maﬁmsﬂmaﬁ%mwwmam

[

e & Rigid & og1 T § & e Ra yerd o
g9 U TR W FW B R & g 9d |WR &
TR 59 & YR & RIS BT 2|

SENIS! BT Ugd1 1w Fdrdl § b AT SHoft 31 T
T B, 3R FEANTS B! Ufehard SHoif &b W& & Rigia
F 3 I 3BT Ao © fb S SHuil AT a1
EREASIRE IR
GOHH F TS RIS Toeh (sI) 3bT e
(Bam g1 1795 ¥ ugeht IR §th & fgem & foig W ur
P TP 9 SUHeR & =g H uRyifid far mar um|
aﬁ%ﬁwgﬁ%aﬁawﬁaﬁwﬁﬂaﬁwww
ST R

qfaT, Tiet QAT SR @ Uy gIesieH &I gar |
mmm%ﬁvamﬁwmm
Y gfo=d 78l Bl B

P ¢ Th bR BT IGAAD §¢ 2 S a fauda
S AT ST b del gerareiee SHTbyU b HieH J
§d1 21 MR §Y Uh Hfegd & o9 9d & Sl
THAR TR TH U1 8, 3R Th 3 g, S MR R U
31T 21 U Jeuioih s & RS & st saael-t
P TF SIS M B 31

oo ¥ a1 dle as U & WemEd S
HIT TH B1 Ufehan 8, a2 ST 1 AepT o1 b |
HiRY SRS (Ca0), T MR W fBwamsa a
JA gU A & ®U H A O §, U6 AUS =Y
X a1 SIF aTel IS TS 81 I8 R B
ATIEH W UF Tthe, HIReH, &R fheda 31 81
g I SadieH drdi oTRaT SadeH (R R0 H) &I
BCH & Y axad I Sl $I HRUTS Bl ol 39
UHR s § o/ &R argsit & o & Saagil &l
WH F1 ugfy eifde gt 31
g feary aar MRk g
dfcp, TU1 BT P I HIGE eI 31 I, GHHH
WR R B e 50 Avg TaT 81 HeareR gz #
T 9 TRR & IO B1 Hferd Ham g1 gaferg, it
IRR R G 9 A g1 AU
TS dRl &1 faftg SRoi § df & sy feq-dis Ay
T T ST ST 8| 98 IR B A1 & Y- I
yfoRtY J gad BT 8|
2Ryt @ B dara Bl 367 B
& RAY § T IHRIAD d1 a9 eidl 8 od Tb
R § SdeiHI Bl o & 3 te g1 B

Web :-



https://www.facebook.com/tesmuseduserve
https://tesmus.com/

